Year 4 Arithmetic Test 8 teStbase

5500 - 1000 =

1 mark
85x0=

1 mark
21 +3=

1 mark
48-6-6=

1 mark
4 1_
5 5

1 mark
7210 + 1290 =

1 mark
375+ 25+ 25 =

1 mark
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Year 4 Arithmetic Test 8 teStbase

8x4=

1 mark
12 x5 =

1 mark
68 +1=

1 mark
8345 + 298 =

1 mark
7x8=

1 mark
11 x 11 =

1 mark
222 + ? =552

1 mark

© Testbase 2015 Page 2



Year 4 Arithmetic Test 8 teStbase

30+-6=
1 mark
54 +9 =
1 mark
5600 - 1900 =
1 mark
3
— " — =
7
1 mark
3x4x9=
1 mark
96 +12 =
1 mark
33x9=
1 mark
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Year 4 Arithmetic Test 8 teStbase

?-685=99

1 mark
4x5x8=

1 mark
292 x 3=

1 mark
7658 — 998 =

1 mark
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Year 4 Arithmetic Test 8

testbase

Mark scheme

10.

11.

12.

13.

4500

36
3 :
= or equivalent

8500
425
32
60
68
8643
56

121
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21.
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24.

25.

330

6
3700

9 .
- or equivalent

2
eg. 1-
d 7

108

297
784
160
876

6660
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